[3H2 ML M] AlTHOIS S3HA

oo

P EFE{Setat 3TA 222y

re
2
ru
>
N
[
H
o
E

2= 2579 T4 T4z
30p 23-23
ue s @ 2Aglol T2 20| 0347} ZH53HCt. @ LAY BYE Bl TSI
A AR 481 M2] 5
185p a8
Al5H 2{CH ch =
MO - [8lch =6
H13 2 (B ch=16 o]
24 _ ]
W (5] ch?7t 50|22 0 ¥ 2710] AHZI0|7| 20| S HAY
ch7} 50|22 2 3 20| HZl0|7| (2o & gy |ZUS S & HR Z210] 20[7] TiZ20i| chgfol 1
ZUS SUBICL S wiR) 220| 20|7| 20| chztol 1 (S7HEISE ch=60]
2715|292 ch = 160 ECt
(BEHS 160IM 622 +4)
+4 At yg oz
246p EL
e Che Dt 20| & 7hR|9] BRI} Uct Che ot 20| & 7hR|9) 27t ULt
=2 .
smalltalke] @ whileTue :aBlock @ whileTrue :aBlock ('r' 27}
S84 2Y- © whileFalse :aBlock © whileFalse :aBlock
(2) Hof 7z -
GESIC
=4 At 22 2Ff
289p 23-23
e 3 @ throws &2 02| & Y-dA|ZICt @ throw 2 0|2 LHAIZICE (throwsOl|lA] s FA])
8 AR 18 M2 2
315p =A-22
HOH - A3 -
flom - 2132 =, ¢, >, =, <=// B2 94 =, <>, 5=, <=/ Bl it
2 - 4. 20f N N
st if Al even? // B4 At even? // B4 A}
odd? // B4 HA} odd? // &5 AAt
zero? // 0912] ZA} zero? // 0 R| HAt
eq? // & AAt eq? // & AAl
=4 At 2R e
330p =
A9 2EHN (27 11 1 41 27112
RO - [EE]( ) [EE] ( )
2% A
23
W1 T3 AR yg o8

£H2| 282 350 BHE FH U4
o L2 EME 257

|o

czl 2 ARtE-L|CH
#l5ll =Hsts Atin|E0] =S L L




